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CON.
1- some x are not z

Some X Is Z 2- some x are not m
No Z Are M 3- some m are not x
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ST.

Some A Are B
Some B Are C
No C Are D
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$S B, C
PIS C, DA ©

CON.
1- Some B Are A
2- All A Are D
3- No A Are C
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No bisc
Nocisd
PS a, b T
PS5 b, ¢ X &
Pls ¢ d A ©

CON.
Noaisd
Nodisb
Some aisc
Somebisc
PIS a, d IS &
PS5 dy b T &



CONDITIONS FOR EITHER-OR

»>Both conclusion should be wrong.

»>Subject and predicate of both conclusion should be same.

> One conclusion should be positive and another should be negative.
»>(All and No) should not be together.



ST.

Some X Are Y
Some Y Are A
TOX, YT
IO Y, A &

CON.

1- Some X Are A

2- Some X A!'e Not A
1- o5 X,A ©

2- P X, A a9 ©

CON.

1- All X Are A
2- All X Are Not A
1- O X, A%
2- goT X, A T ©
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1- All Chocolate Are Sweets
2- No Sweets Are Namkeen

3- All Namkeen Are Snacks
1- G dichele oS ©

2- DS fFSTS AAPIT T &

3- gy AFRAT Eag &

CON.

1- Some Sweet Are Not Namkeen
2- Some Snacks Are Not Chocolate
3- No Snacks Are Sweets

4- No Snacks Are Chooclate

5- No Sweets Are Snacks
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